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31 January 2020

1. Suppose that u, v, and w are three different vectors in R®. Which of the following are
possibilities for Span{u, v, w}? Select all that apply.

{e) none of the above

2. Complete the following definition: A linear combination of the vectors {vy, ..., v} is...

o vector X «x x2V2+"'+kak ,; where Xy,.-s Xy ore ru-.' nw-[:efj'

Turn the page over!



3. Consider the following question:

3 1 4
Is 4 a linear combination of 1 and 5
5 1 4

Write down the corresponding vector equation.
| € /3
Xcft )+ x, [5)1= (4
| 4 2

Write down the corresponding augmented matrix.

413
1S |4
I 4 |5

Is (3,4, 5) in the span of (1,1,1) and (4, 5, 4)?

R2=R2-R! {
T 22 R3-R | 43
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